% IR & & 55 FH 25 (Carbon Film Fixed Resistors)

M

RoHS Compliant

- BmE

L Tan —HII -
o TRERMMRE | 4 |

« EABENLEEE Cowm o o T om

e B HE R (om)
(70°Q) DEA L&A  d+x005 H=3

EERSF

CFROWS CFR-12 1/8W 1.9 35 0.45 98
CFROW4 CFR-25 1/4W 2.5 6.8 0.54 28
CFROW?2 CFR-50 1/2W 3.5 10 0.54 28
CFROTW CFR-100 1w 55 16 0.70 98
CFRO2W CFR-200 oW 6.5 17.5 0.75 98

INBUR RBINEY R~

CFROS4 CFR-25-S 1/4W 1.9 35 0.45 98
CFROU2 CFR-50-SS 1/9W 2.7 6.8 0.54 28
CFROS?2 CFR-50-S 1/9W 3 9 0.54 98
CFRO1S CFR-100-S W 5 19 0.65 928
CFRO2S CFR-200-S oAV 55 16 0.70 98
CFRO3S CFR-300-S 3w 6.5 17.5 0.75 98

o IZHE24 RFAE 5% [BIE

o IEERTERBZEXEG®EZE, CFRO1S, CFROS & CFRO3SEZIFE KR
o CFROU2 (CFR-50-SS)ZIZE AR E ( AMM ) KF

o HWIRER, 5. BRMAEL TSN SHEE

B ThER Hh 2
10035 +70°C +15IS°C
wl b\ '
.
&,
RS

60 30 0 30 60 90 120 150 180
BIRRE(C)

RAIE
[

200V
250V
350V
500V
500V

200V
250V
350V
500V
500V
500V

==
=1

mERBETR

400V
500V
700V
1000V
1000V

400V

500V

700V
1000V
1000V
1000V

4o igms R

400V
500V
700V
1000V
1000V

400V
250V
700V
1000V
1000V
1000V

LERIE e
10 ~ 1MQ
1Q ~ 10MQ
1Q ~ 10MQ
1Q ~ 10MQ
1Q ~ 10MQ
10 ~ 1MQ
1Q ~ 10MQ
1Q ~ 10MQ
1Q ~ 10MQ
1Q ~ 10MQ
1Q ~ 10MQ
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E%Bﬂ%ﬁ(Carbon Film Fixed Resistors)

ﬁ’ 42
RoHS Compliant

T BE

BERY

EEFEB &%

WwiER
IR

+300PPM/°C for =10Q);

+450PPM/°C for 11Q ~ 99KQ);

0 ~ -700PPM/°C for 100KQ ~1MQ;
0 ~ -1500PPM/°C for 1.1MQ ~10MQ.

ARR < +(19%+0.05Q), o] BB 5
Min. 10,000Mega Ohm.

mET. ROl REMIES

o] REMAE S

ARR < +(19%+0.05Q), o] RAEMIEHE
R 95% BER

GHE. eBxE
ARR = =(1%+0.05Q), %] RHEIRIE 5

IEH : ARR =+ 3% for <100KQ, +5% for =100KQ;
AIRME - AR/R =+ 5% for <100KQ, £10% for =100KQ

IEE : ARR +£2% for <56KQ, +3% for =56KQ;
IR - AR/R +5% for <100KQ, =10% for =100KQ

=TEE 30 (5170: CFR 1/4W Small Size Non — Flame 5% 10KQ T/B-5000)

CFRFSA4J)J 01

O 3 A50

EmER:
CFR=FRIEE EE M

EBRS:
WG= 1/16W
W8 = 1/8W
Weé = 1/6W
W4 = 1/4W
W2 = 1/2W
W =1W
oW = oW
IZNRAT

S4 = 1/4W-S
S3 = 1/3W-S
S92 = 1/2W-S
1S =1W-S
9S = 9W-S
3S =3WsS
HBINRT
ug = 1/2W-SS

PEE:

5% D (E-24 RFIBALE ):
#1120, B 3
R RIAENERE, 3
4 fFRRBEMEO;

FREL
0=1REER
F= PEMZ

| = $ER&E

P>
Ptk

S

==+ 2%
==*5%
+ 10%

http://www._.BDTIC.com/Uni10hm

BEFER.

A= B

T = h#%/ 5%

B =&t/ 5%

P = 4R¥ (PT-26
Ef) /B

BEYSE:

1 = 1,000pcs
2 = 2,000pcs
3 = 3,000pcs
4 = 4,000pcs
5 = 5,000pcs
A = 500pcs
B = 2,500pcs,
0 = #UEm
ii:

0= NIL
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